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2. The sequence of positive numbers u,, uz, u3, ..., is given by

Up+1~ (un = 3)2;

(a) Find uy, us and uy.

(b) Write down the value of uy.

u1=1.
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On Alice’s 11th birthday she started to receive an annual allowance. The first annual
allowance was £500 and on each following birthday the allowance was increased by

£200.

(a) Show that, immediately after her 12th birthday, the total of the allowances that
Alice had received was £1200.
1)

(b) Find the amount of Alice’s annual allowance on her 18th birthday.
(2)

(¢) Find the total of the allowances that Alice had received up to and including her
18th birthday.
&)

When the total of the allowances that Alice had received reached £32 000 the
allowance stopped.

(d) Find how old Alice was when she received her last allowance. (7)
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9. Ann has some sticks that are all of the same length. She arranges them in squares and has

made the following 3 rows of patterns:
A~S | n=I N=T n=3
Row 1 Il ' /
ow R 4 : VS
Row 2 (| \ “ﬁ““’ o E——
D
Row 3 I — )
’,-\'t‘\ +ermn L Sy gy e l
She notices that 4 sticks are required to make the single square in the first row, 7 sticks to
make 2 squares in the second row and in the third row she needs 10 sticks to make 3
squares.
(a) Find an expression, in terms of », for the number of sticks required to make a similar
arrangement of » squares in the nth row.
3)
Ann continues to make squares following the same pattern. She makes 4 squares in the
4th row and so on until she has completed 10 rows.
(b) Find the total number of sticks Ann uses in making these 10 rows.
3)
Ann started with 1750 sticks. Given that Ann continues the pattern to complete k£ rows
but does not have sufficient sticks to complete the (k+ 1)th row,
(c) show that k satisfies (3k— 100)(k+ 35) <0.
@
(d) Find the value of £.
— : @
___________ S\WEY.E = - "
a =Y / A= 5
__________________________ e e
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7. A sequence is given by:

x =1
xn+l = xn (p+xn )’

where p is a constant (p = 0) .

(a) Find x, in terms of p.

()
(b) Show that x, =1+3p+2p°.

)
Given that x; =1,
(c) find the value of p,

) 3)

(d) write down the value of x, .

@)
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11. The first term of an arithmetic sequence is 30 and the common difference is —1.5

(a) Find the value of the 25th term.
Gice @)

The rth term of the sequence is 0. A= —I-5

-

(b) Find the value of r.
2)

The sum of the first » terms of the sequence is S, .

(c) Find the largest positive value of S,,.

3)
a)y 25™ oy = a4+ 244
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9. The first term of an arithmetic series is ¢ and the common difference is d.
The 18th term of the series is 25 and the 21st term of the series is 32:.

() Use this information to write down two equations for @ and d.

(b) Show that @ =-17.5 and find the value of d.

The sum of the first # terms of the series is 2750.

(c) Show that n is given by
n*—15n="55x%40.

(d) Hence find the value of ».

2)
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. Asequence q,, a,, a,,... is defined by
a, =2
am—l = SQn b

where ¢ is a constant.

(a) Find an expression for a, in terms of c.

1)
3
Given that Zaf =)
i=1
(b) find the value of c.
C))
a) P € SOX ¢ "= i
Og: 3)(2‘-
2
L) B BN soesmaa
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6. An arithmetic sequence has first term @ and common difference . The sum of the first 10
terms of the sequence is 162.

(a) Show that 10a+45d =162

(2)
Given also that the sixth term of the sequence is 17,
(b) write down a second equation in a and d,

(1)
(¢) find the value of @ and the value of d.

“

) Su= Z2 Paria-na)
Sea= 82 = B (204 oo )

162 = 5 ( o lod —d )
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4. Asequence x,,X,,X,,... is defined by
x =1
Xy = aX, +5, nz=1
where a is a constant.

(a) Write down an expression for x, in terms of a.

(1)
(b) Show that x3=a2+5a+5
(2
Given that x, =41
(c) find the possible values of a.
3)
CR) g = ‘
Xz= ax,; +S = a4+ §
-L\ X3 = O 4, + g
. = a<Q+S> + S y
O 2 Sa = (qs (Equtred)
c) 4\ = a ¢+ Sa+ S |
O % o %o — BE
o = (a + AVa - )
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9. A company offers two salary schemes for a 10-year period, Year 1 to Year 10 inclusive.
Scheme 1:  Salary in Year 1 is £P.
Salary increases by £(27) each year, forming an arithmetic sequence.
Scheme 2:  Salary in Year 1 is £(P + 1800).
Salary increases by £7 each year, forming an arithmetic sequence.
(a) Show that the total earned under Salary Scheme 1 for the 10-year period is
£(10P + 907)
2
For the 10-year period, the total earned is the same for both salary schemes.
(b) Find the value of T.
C))
For this value of 7, the salary in Year 10 under Salary Scheme 2 is £29 850
(c¢) Find the value of P.
3)
a) = p a= 271
N B ﬂ" (’lo-}—(n qd')
= \OP sy QoT o) (QQ rec\u_\:r-zd)
B) Fﬂf‘ schame 2. : ‘3;: i
_ o= P+ |\ Roc A = | 2
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v A0 = L;V\{a- | 00 + LS5T
LsT' = 1PcTCo Lx 4S]= | B
_ s
C) QY Ad = 24850 =) Qoco
P rITOCH+AT = 2980 e
P+ \ 800 rQAxqoc = 2a3ST swoa |~
P 41860 +260c = 29T O >4
Cr Soc = 2485 )
P = 2445 O
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4. A girl saves money over a period of 200 weeks. She saves 5p in Week 1, 7p in Week 2,
9p in Week 3, and so on until Week 200. Her weekly savings form an arithmetic
sequence.

(a) Find the amount she saves in Week 200.

3)
(b) Calculate her total savings over the complete 200 week period.
3)
N=2Q00 pn’osfe P 5 Lo

Lﬂ) = \ CJJCCLk e b Q:/\c_-\j < \g_f* "]—ur“W\uu] -1
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8. Asequence a,,a,,d,,... is defined by

where £ is a positive integer.

(a) Write down an expression for a, in terms of k.

)

(b) Show that a, = 9k + 20 .
(2)

4
(¢) (i) Find a, interms of k.

4
(ii) Show that Za, is divisible by 10.
<] 4)

(3 divucsekble by yao
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5. Asequence x, X,, X,, ... is defined by
%=1
x. =ax -3, n>21
where a is a constant.
(a) Find an expression for x, in terms of a.
(1)
(b) Show that x, = a*> — 3a - 3.
(2)
Given that x, = 7,
(c) find the possible values of a.
3)
A el CX -:x,—-z ....... > = |
............. _m“;/////?”’/”/;jj)"h .?Ei}\ Ve
Crk\ w hen =) : e
& TR = .
D, = N sl — 3
L) show ez = o*— Ja-3
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e B £ KTy
________ 2 2 = CA/L — R - 3
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O = (o—5)C Cl\.‘\‘"2-7 _________________
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7. Sue is training for a marathon. Her training includes a run every Saturday starting with a
run of 5 km on the first Saturday. Each Saturday she increases the length of her run from
the previous Saturday by 2 km.

(a) Show that on the 4th Saturday of training she runs 11 km.

(1)
(b) Find an expression, in terms of », for the length of her training run on the nth
Saturday.
2
(c) Show that the total distance she runs on Saturdays in n weeks of training is n(»n + 4) km.
3)
On the nth Saturday Sue runs 43 km.
(d) Find the value of n.
2)
(e) Find the total distance, in km, Sue runs on Saturdays in » weeks of training.
2)
CKF\ s 3 1 R = 4 VA \Zr\f\ - Zb‘"’\ N g
P4 g 7 4 Qak
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5. Ad40-year building programme for new houses began in Oldtown in the year 1951 (Year 1)
and finished in 1990 (Year 40).
The numbers of houses built each year form an arithmetic sequence with first term a and
common difference d.
Given that 2400 new houses were built in 1960 and 600 new houses were built in 1990,
find l .
\j.w-r' o
(a) the value of d,
3
(b) the value of a,
2)
(c) the total number of houses built in Oldtown over the 40-year period.
| st §iG e 4t™3)
CX.\) 1985\ e \A 9 G
ar9Q9d = 2400 e
a +3%d = _boo G
@ -C 20Ad = —\RS O
d = — 6C
gk e sbo Ja C5) LY
_ o -
A+ Ax( —¢éc) = 24o0a o
o Rl
: o = 24400 +3SHO
E 1.:9) A= 2 Quo 2940 |
kel
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BED ] o T N~ i I 4
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7. Asequence d,, a,, @, ... is defined by
@ =k
a, =2a-7 nzl

where k is a constant.

(a) Write down an expression for a, in terms of .

0y
(b) Show that a, = 4k —21.
2)
4
Given that » a, =43,
r=1
(c) find the value of £.
“)
2) a,.=k

o ql*:. ‘ZC’\“"—‘—)

) e Fas "]
£ 2(2."3-"—1)-——’_,

CA 2 = 4V — \& — 7]
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4. A sequence ay, a,, a;, . .. is defined by

a1=3,

ap+1=3a,—-5, n=>1.

(a) Find the value of a, and the value of as.

5
(b) Calculate the value of Za,.
r=1

LJ Z__;__ C W™ T - e

___________________ i KD 2 SR % DN R -F ® 16
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5. Asequence of positive numbers is defined by
a,,=Va+3), n>1l,
a=2
(a) Find g, and a,, leaving your answers in surd form.
)
(b) Show that a, =4
2)
i ﬁe\\ A4 = AN S N | = 1 .............
/
SR d A8 )
..... QA = 4 1
N — e
Q<= ¢ Lo R 2 R
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9. A farmer has a pay scheme to keep fruit pickers working throughout the 30 day season.
He pays £a for their first day, £(a +d) for their second day, £(a +2d) for their third day,
and so on, thus increasing the daily payment by £d for each extra day they work.

A picker who works for all 30 days will earn £40.75 on the final day.

(a) Use this information to form an equation in a and d.

2)
A picker who works for all 30 days will earn a total of £1005
(b) Show that 15(a+40.75) = 1005
2
(c) Hence find the value of @ and the value of d.
o @
“-\I _ -—
e ;. Gh e\ = M IS Cvl o
e, . e
5 ) S)___gkd = o { D & &su~l\c\\ LS S
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5. Asequence a, a,, a,... is defined by
a =k,
a,, =5a,+3, n=l,

where £ is a positive integer.
(a) Write down an expression for a, in terms of 4.
(b) Show that a, =25k +18.

4
(¢) (i) Find za, in terms of &, in its simplest form.
r=]

.
(ii) Show that 2 a, is divisible by 6.
r=l

(1)

2
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9. (a) Calculate the sum of all the even numbers from 2 to 100 inclusive, < < gu Yol W

2+446+...... + 100
3)
(b) In the arithmetic series
k+2k+3k+ ... + 100
k is a positive integer and £ is a factor of 100.
(1) Find, in terms of %, an expression for the number of terms in this series.
(1) Show that the sum of this series is
504 SOkUO
)
(c) Find, in terms of &, the 50th term of the arithmetic sequence
2k+1),(4k+4), (6k+17), ......,
giving your answer in its simplest form.
(2)
e B e e s
. e e— ; — S ———
. . 2 RS L e e __..:(___S’,:
_____ = 100 +(Sexya) = =k

., o | < 5 S 3 o
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5. A sequence of numbers a,, a,, a, ... is defined by
8 =3
a,=2a-c (n=1)
where ¢ 1s a constant.
(a) Write down ar’ expression, in terms of ¢, for a,
(1)
(b) Show that a, =12 — 3¢
(2)
Given that Y g, >23
(c) find the range of values of c.
4)
__O\) 3 G y = .> i I ) N =4
A Z,_Z A, — &;_ LT B R e
- Qz = 6 cacalit, S5 . s e
% Qé, 24@2_ - L e
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6. A boy saves some money over a period of 60 weeks. He saves 10p in week I,
15p in week 2, 20p in week 3 and so on until week 60. His weekly savings form an
arithmetic sequence. '

(a) Find how much he saves in week 15

2

(b) Calculate the total amount he saves over the 60 week period.

. 3
The boy’s sister also saves some money each week over a period of m weeks. She saves
10p in week 1, 20p in week 2, 30p in week 3 and so on so that her weekly savings form
an arithmetic sequence. She saves a total of £63 in the m weeks.

(¢) Show that

m(m + 1) =35 x 36

4)
(d) Hence write down the value of m. -
a .
P T W & By T
- _\C S 2 o, S B
= a+d et - —r
BT Y B oA | O
o = losluxS = §Op
B Sas o Afestn DEDNE 9
Sto= €= (Zx1O & ‘S’C’\xg) N
2 2 S
=~ 30 (z=am i I
= BoxRS -~ SIS
N - RGO D ==
, - S
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Question 6 continued
N P S = S L. SR——
= } & 2< =0 . aa=\CG
- . e el ow2d o
S Z—(2a+ Cm-Na) -
(’:soo -—-———-L'ZC.)-&-—IO(M )) o
1 "LQQG = M (27 \Cfn/\ —-—\C\
vz ¢éca = m (lOm i) &
T e e e e RO 0
. B el m?"-;-—_rw\ DR S
=
o o ok —Zg~ =
_ . T .
—— T N, e
. . . 1 260 —
(m +—ﬂ ._g'gx SS - (C)&S r‘qgu&xﬂd)
_d) o= (m - 39(m +2D
_ A = VS o = —336
. a3 m mms‘t Be_ Ipcxeb'we_
= BN |
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A sequence u, u,, u,, ... satisfies

U..,=2u, -1, nz1

Given that u, =9,

(a) find the value of u, and the value of w,,

()

4

(b) evaluate 2“”'

3)

Y
S s TG =11 =2 3

=)

- &4

=
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7. Lewis played a game of space invaders. He scored points for each spaceship that he
captured.
Lewis scored 140 points for capturing his first spaceship.
He scored 160 points for capturing his second spaceship, 180 points for capturing his third
spaceship, and so on.
The number of points scored for capturing each successive spaceship formed an arithmetic
sequence.
(a) Find the number of points that Lewis scored for capturing his 20th spaceship.
2)
(b) Find the total number of points Lewis scored for capturing his first 20 spaceships.
(©))
Sian played an adventure game. She scored points for cach dragon that she captured.
The number of points that Sian scored for capturing each successive dragon formed an
arithmetic sequence.
Sian captured » dragons and the total number of points that she scored for capturing
all n dragons was 8500.
Given that Sian scored 300 points for capturing her first dragon and then 700 points for
capturing her nth dragon,
(c) find the value of n.
3)
I3+ 2wnd grol
Lol l6e - 15O
Q\ A = “—f" S 3 (;ll = ‘2.._0

= Yo + 1920

. O 4= 15 gl

= Yo + IXO

= S20

LY S, = =(2c+n-1)I]

. S\Q_O = -g (2)(_‘%@ + !qKZ_G)

=

Moo = 1O 2B T a0 )

e
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4. Asequence a, a,, a,, ... is defined by

a, =4
an+l=k(an+2), forn>1

where k 1s a constant.

(a) Find an expression for a, in terms of .

1)
Given that iai =2
i=]
(b) find the two possible values of .
(6)
ol oicilada ez )
= &Lz
}3 X2 = ‘2 (Q?__-*-Z)
£ =k (ki)
3 o LB Te Tl
..... 2 T T, _.__Q‘_z : =
t"-:‘
Se 4+ 4k -+-(éfp—?—_-&—2h) =
& bt-l- Sk ab- = 2.
é 1‘2\"‘ Xk -r-l = €3
. (\é + Yl | ) i
(2 4Ok 4 1) = £
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7. A company, which is making 200 mobile phones cach week, plans to increase its
production.

The number of mobile phones produced is to be increased by 20 each week from 200 in
week 1 to 220 in week 2, to 240 in week 3 and so on, until it is producing 600 in week M.

(a) Find the value of N.
2)

The company then plans to continue to make 600 mobile phones each week.

(b) Find the total number of mobile phones that will be made in the first 52 weeks starting
from and including week 1.

®)
W 2xlo [ - L N
ph_cm_s__ = > SRy = = I =2 .~ SN -
a o+ a+2R o+ (rv-i1)d

a_ < Zooj = 20

a}

i weel2 NJ R R T Bl

200 + (N=)22 =&oo

o 200 4+ 20N 20 = &GO
20N = £00 —- 200 20
Z2onN = k2o

pd e 2N -

L) Fink 20 wadks  Sum T
QQA_= %—(_?QJ,- (nvl)d) o -S}-.=“;"(Q--5~L

Say - ._% (2co + oo ) =7 x4Co
- RYOoo

F:rc_am Wt TR b Hhere o
AR Rl v
Bl oo = | Lo

Total SO o o ke Bs
J 60O T [ =
200G & phones
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